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Two lossless transmission lines are connected through a matching network at their junction.

* Draw the voltages at the input terminal (al) of T1 and the output terminal of T2 (b2).

Ps’-‘O 2 D matchingneﬁNork. QPZTLZO i{:- l/,— = 0.5

vin 20 =a1 T a2
Zo=50
225
2u(t) volts id, = 4ns ‘
al’ a2’

(a) [1] Incident wave at input to T1: 1 v
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(a) [10] On the graph below, draw the voltages at the input terminal (al) of T1 and the voltages
at the output terminal (b2) of T2.
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(h) [4] Determine the steady-state voltages at the input to the first line (al and al’) and the

output of the second line (b2 and b2’). &‘ 20)
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